Validate Print Help Percentage BoQ							
Tender Inviting Authority: Staff Officer (Civil) Argada Area							
Name of Work:- "Repair and maintenance of E&M office at E&M workshop, Religara under Religara Project, Argada Area." (e-tender 31 of 24-25)							
	Category of Services (To Be Selected by Department)	Category of Bidder(To Be Selected by Bidder)	To Be Entered by Department				
ITC Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)		
Name of the Bidder/ Bidding Firm / Company:		Select	18.00	0.00	0.00		
PRICE SCHEDULE (This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)							

NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
1	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge.	3.94	Cum	1194.45	4706.13	INR Four Thousand Seven Hundred & Six and Paise Thirteen Only
2	Dismantling roofing including ridges, hips, valleys and gutters etc., and stacking the material within 50 metres lead of: 15.28.1 G.S. Sheet	86.41	Sqm	97.70		INR Eight Thousand Four Hundred & Forty Two and Paise Twenty Six Only
3	Brick work with F.P.S. bricks of class designation 50 in superstructure above plinth level upto floor level in all shapes and sizes in : Cement mortar 1:6 (1 cement : 6 coarse sand)	27.25	Cum	6494.75		INR One Lakh Seventy Six Thousand Nine Hundred & Eighty One and Paise Ninety Four Only
4	Taking out doors, windows and clerestory window shutters (steel or wood) including stacking within 50 metres lead: 15:13:1 Of area 3 sq. metres and below	8.00	Nos	85.20	681.60	INR Six Hundred & Eighty One and Paise Sixty Only

	1		1	1	O2CA OO IND Fishers and Thomas House II of City Farm and Daise Fisher Only
5	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	261.40	Sqm	32.00	8364.80 INR Eight Thousand Three Hundred & Sixty Four and Paise Eighty Only
6	12 mm cement plaster of mix : 1:6 (1 cement : 6 fine sand)	507.25	Sqm	217.70	110428.33 INR One Lakh Ten Thousand Four Hundred & Twenty Eight and Paise Thirty Two Only
7	Providing reinforced by organic fibres and / or inorganic synthetic fibres cement 6 mm thick corrugated sheets (as per IS: 14871) roofing up to any pitch and fixing with polymer coated J, or L hooks, bolts and nuts 8 mm dia. G.I. plain and bitumen washers or with self drilling fastener and EPDM washers etc. complete (excluding the cost or purlins, rafters and trusess), including cutting sheets to size and shape wherever required.	193.96	Sqm	389.1	75469.84 INR Seventy Five Thousand Four Hundred & Sixty Nine and Paise Eighty Four Only
8	Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a primin coat of approved steel primer all complete.	527.54	Kg	77.95	41121.74 INR Forty One Thousand One Hundred & Twenty One and Paise Seventy Four Only
9	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	113.79	Sqm	98.45	11202.63 INR Eleven Thousand Two Hundred & Two and Paise Sixty Three Only
10	Providing and fixing ridges and hips in fibre cement reinforced by organic fibres and/ or inorganic synthetic fibres roofing with suitable fixing accessories or self drilling fastener and EPDM washer etc. complete. 12.12.1 Corrugared serrated adjustable redges.	13.80	Mtr	370.80	5117.04 INR Five Thousand One Hundred & Seventeen and Paise Four Only
11	Distempering with 1st quality acrylic distemper (ready mixed) having VOC content less than 50 gram/litre, of approved manufacturere, of required shade and colour all complete: New work (two or more coats) over and including water thinnable priming coat with Cement primer having VOC content less than 50 gram/litre	113.79	Sqm	38.55	4386.60 INR Four Thousand Three Hundred & Eighty Six and Paise Sixty Only

12	Providing and laying vitrified floor tiles in different sizes (thickness to be specified by the manufacturer) with water absorptions less than 0.08% and conforming to IS: 15622 of approved make in all colours and shades, laid on 20 mm thick cement mortar 1:4 (1 cement : 4 coarse sand) including grouting the joints with white cement and matching pigments etc., complete Size of Tiles 60x60 cm	48.41	Sqm	1180.40	57143.16 INR Fifty Seven Thousand One Hundred & Forty Three and Paise Sixteen Only
13	Providing and laying vitrified tiles in different sizes (thickness to be specified by manufacturer), with water absorptions less than 0.08% and conforming to IS: 15622, of approved make, in all colours & shade, in skirting, riser of steps, over 12 mm thick bed of cement mortor 1:3 (1 cement:3 coarse sand), including grouting the joints with white cement and matching pigments etc., complete:11.46.2 Size of Tile 600x600 mm	5.60	Sqm	1221.20	6838.72 INR Six Thousand Eight Hundred & Thirty Eight and Paise Seventy Two Only
14	Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	232.50	Kg	77.95	18123.38 INR Eighteen Thousand One Hundred & Twenty Three and Paise Thirty Eight Only
15	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6 mm angle iron and 3 mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using flats 30x6mm for diagonal braces and central cross piece	13.79	Sqm	3730.40	51442.22 INR Fifty One Thousand Four Hundred & Forty Two and Paise Twenty Two Only
16	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade : 13.61.1 Two or more coats on new work worknew work	63.03	Sqm	99.90	6296.70 INR Six Thousand Two Hundred & Ninety Six and Paise Seventy Only
17	Supplying and filling in plinth with sand under floors, including watering, ramming, consolidating and dressing complete.	3.47	Cum	1844.00	6398.68 INR Six Thousand Three Hundred & Ninety Eight and Paise Sixty Eight Only

18	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level 4.1.6 1:3:6 (1 Cement : 3 coarse sand (zone-III):6 graded stone aggregate 40 mm nominal size)	8.17	Cum	5524.65		INR Forty Five Thousand One Hundred & Thirty Six and Paise Thirty Nine Only INR Fifty Seven Thousand Six Hundred & Seventy Five and Paise Sixty Five Only
19	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate) finished with a floating coat of neat cement, including cement slurry, but excluding the cost of nosing of steps etc. complete. 11.3.1 40 mm thick with 20 mm nominal size stone aggregate	127.46	Sqm	452.50		
20	Finishing walls with water proofing cement paint of required shade: Old work (one or more coats applied @ 2.20 kg/10 sqm) over priming coat of primer applied @ 0.80 litrs/10 sqm complete including cost of Priming coat.	340.91	Sqm	72.30	24647.79	INR Twenty Four Thousand Six Hundred & Forty Seven and Paise Seventy Nine Only
21	Colour washing such as green, blue or buff to give an even shade :13.39.1 New work (two or more coats) with a base coat of white washing with lime	211.08	Sqm	33.40	7050.07	INR Seven Thousand &Fifty and Paise Seven Only
22	Total impact of GST for the purpose of CTC	1.000	Nos	0.00	0.00	INR Zero Only
Total in Figures					727655.67	INR Seven Lakh Twenty Seven Thousand Six Hundred & Fifty Five and Paise Sixty Seven Only
Quoted Rate in Figures			Select		0.00	INR Zero Only
Quoted Rate in Words		INR Zero Only				